





| w




|||||||||||||||||

|||||||||||||||||

|||||||||||||||||

o =

e e o e e o m mm mm o Em o e Em Em o e o = o e = = o

— = ——

- e e o o e o o = =

o e o o o e e o e Ee o -




—_—— === -
1
I ( ) ] ]
I | 1600
1! 1,417
| 1400
I_| | 1200
1 — | 1,012
| — | 1000 |
1 | | 832
I — | %0 i 718
I
,_' L
— E i T — 600
[ pe— —— e = i |_|: 400
646
200 | 474
329 301 303
0 1 1 1 1 ]
o
800
o 800 1,000
1,000
-
> —— > 1,746
14 [750]
=< 498
i 534
100 2.6 , L /‘
71 13 [680] 463 913
C .L// I_ 450 >
10 [Z_ 1 1 285
P
; —>
[16.32 km] 180 "o ? 5 n . 1
130
o ? 71
1 |
[35-6 ] [35'6 ] - I I__ 15 [920] — 605
320 . 249 7
534
180




-
—_—_—N ==
] P | 1 =
I 8,000
| I | |
{ | 7,000
I I I I 6,309
| I I I I 6,000
I I 5,000
I I I 1 |
- | 4000
— | 3,000
— ]
2,000
|_| | 1000 1,745
| o
A
}—[% - -
_———=f e e = =
2,886 2,886 2,638 2,894 2,773 ( )
871 871 827 873 794 ( /)
-
o o o o o
[ 75 20
D
|
ABCD 699 /7,985 =87,540 /
E 707 /8,800 =80,340 /
-
D
373 1,697
97,108 / (11,000 12600) <1 015 163462 / 748171 1 015 2300 <414  / (7000 8 000 )><414  /
2300 =30 / 50 =200 / (7000 8 000 )>=<150 /
438
(7000 8 000 )x=<414  / (7000 8 000 )><414 / 570000 =25 / (7000 8 000 )=<30 / 50 8750 /
50 =200 / 50 =200 / 2300 =10 / 570000 =25 / (7000 8 000 )=<30 7/
(7000 8 000 )=30 7/ (7000 8 000 )=<30 / 2300 =30 / (7000 8 000 )=<10 7/ 570000 =25 /
48
570000 =25 / 570000 =25 / 285 1043 =30 / 325 =30 / (7000 8 000 )<10 7/
582 =2 [/
(7000 8 000 )=<10 7/ (7000 8 000 )<10 /
(8.,000-2,300) > 414+30+10




|
——— ===
1
I ! 58,327 130,704 182,725 190,932 226,409
L |
I ] | 26,000 1,350
I - |
H | o o
I | H | 20 o 20 15
| I ] | 15
|
| 1 I —]
L | —
— — H S
8,000 2 o 8,000 3
8,000
344 388 789 568 256
300 360 300 0 100
o o o o
400 5
o 400 5
400 5
o
(e}
112 km 97 km 76 km 81 km 77 km
o
85 o 100 85
100
[ 1 0.0 26.7 0.0 15.3 0.0
[ 1 314.4 327.6 774.0 437.0 113.4
[ 1] 13.2 180.6 93.6 41.0 3.6
o
0 300m 5
o 0 500 20
1,000 20
o o




o O (@] L




